
 

  

 

 

B.Com. DEGREE EXAMINATION – JUNE, 2010. 

Third Year 

Bank Management 

INCOME TAX 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

Answer should not exceed 2 pages. 

1. What are the objectives of taxation? 

 Á› Âv¨¤ß SÔU÷PõÒPÒ ¯õøÁ? 

2. Who is a non-resident? 

 Si°¸US® ußø© AØÓÁº Gß£Áº ¯õº? 

3. Briefly explain : 

 (a) Monthly pension 

 (b) Family pension. 

 _¸UP©õP ÂÍUPÄ® : 

 (A) ©õuõ¢vµ K´ÄöuõøP  

 (B) Sk®£ K´ÄöuõøP. 
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4. What are casual incomes? How they are treated in 

Income Tax Act? 

 uØö\¯À Á¸©õÚ[PÒ ¯õøÁ? AÆÁ¸©õÚ[PÒ 

Á¸©õÚ Á›a \mhzvÀ G¨£i Á›US 

Em£kzu¨£kQßÓÚ? 

5. From the following particulars calculate capital 

gain : 

 Rs. 

House purchased in 1984-85 5,00,000 

Sold in Nov 2008 40,00,000 

Purchased a new house in Sept 2008 3,50,000 

Deposited in capital gain account in Jan 2009 4,00,000 

 Note : cost inflation index : 

   1984–85 125 

   2008–09 582 

 RÌUPsh uPÁÀPÎ¼¸¢x ‰»uÚ Buõ¯zøu 

PnUQhÄ® : 

 ¹. 

Ãk Áõ[Q¯x (1984&-85) 5,00,000 

Ãk ÂØÓx ( |Á®£º 2008) 40,00,000 

¦xÃk Áõ[Q¯x (ö\¨ 2008) 3,50,000 

‰»uÚ øÁ¨¦ {v°À ö\¾zv¯x áÚÁ› 2009 4,00,000 
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 £nÃUP SÔ±k Gs : 

   1984–85 125 

   2008–09 582 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

Answer should not exceed 5 pages. 

6. How the following allowances are treated in  

I.T. Act 1961? 

 (a) House rent allowance 

 (b) Transport allowance 

 (c) Children educational allowance 

 (d) Entertainment allowance 

 (e) Running/flight allowance. 

 Á¸©õÚ Á›a \mh® 1961&À RÌUPsh £iPÒ G¨£i 
Á›US Em£kzu¨£kQßÓÚ. 

 (A) Ãmk ÁõhøP¨£i 

 (B) ÷£õUSÁµzx¨£i 

 (C) SÇ¢øuPÒ PÀÂ¨£i 

 (D) ÷PÎUøP¨£i 

 (E) Kmh®/£ÓUS®£i. 
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7. Compute the gross annual value in the case of 

following properties for the assessment year  

2009–10 : 

  (Fig in 000s) 

 P Q R S 

Annual municipal rental value 120 122 160 170 

Fair rental value (p.a) 130 132 156 190 

Std. rent (p.a.) 119 118 170 180 

Annual rent received 144 114 144 240 

Vacancy (in months) 3 3 2 2 

Loss due to vacancy in rupees 36 28.5 24 40 

 RÌUPsh ö\õzxPÐUS 2009–10 ©v¨¥k 
BsiØPõÚ ö©õzu ©v¨ø£ PnUQkP. 

  (¹£õ´ 
B°µ[PÎÀ) 

 P Q R S 

|Pµõm] ©v¨¥k BsiØS 120 122 160 170 

\¢øu/{¯õ©õÚ ÁõhøP BsiØS 130 132 156 190 

uµ®/\mh¨£i ÁõhøP BsiØS 119 118 170 180 

Á¸hõ¢vµ ÁõhøP ö£ØÓx 144 114 144 240 

Põ¼¯õP C¸¢u ©õu[PÒ 3 3 2 2 

ÁõhøP CÇ¨¦ (¹£õ´) Põ¼¯õP 
C¸¢uuõÀ 

 

36 

 

28.5 

 

24 

 

40 
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8. Rajeev – a chartered accountant gives you the 

following income and expenditure A/c for the year 

ending 31/03/09. Compute his professional income. 

Expenditure Rs. Income Rs. 

To drawings 6,000 By audit fee 24,000 

To office rent 2,000 By consulting fee 18,000 

To electricity 1,200 By accountancy works 4,000 

To Phone 

installation 

 

8,000 

By Dividend from 

Indian companies 

 

3,000 

To Staff salary 6,000   

To Charities 200   

To Gift to relatives 5,600   

To Scooter 

expenses 

 

1,000 

  

To Subscription to 

journals 

 

500 

  

To Stipend to 

trainees 

 

1,400 

  

To Surplus 17,100   

 49,000  49,000 

 Note : Depreciation during the year amounted to 

only Rs. 500. 
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 µõâÆ, £mh¯ PnUPõÍº ußÝøh¯ Á¸Áõ´/ö\»Ä 

PnUøP u[PÎh® \©º¤UQßÓõº. 31.03.09À 

•iÁøh²® BsiØPõÚ AÁµx öuõÈÀ 

Á¸©õÚzøuU PnUQhÄ®. 

ö\»ÄPÒ ¹. Á¸©õÚ® ¹. 

Gk¨¦PÒ 6,000 uoUøPU Pmhn® 24,000 

A¾Á»P ÁõhøP 

ªß\õµ® 

2,000 

1,200 

B÷»õ\øÚ 

Pmhn® 

 

18,000 

öuõø»¨÷£] Aø©zuÀ 

Pmhn® 

 

8,000 

PnUPõ´Ä 

Pmhn® 

 

4,000 

FÈ¯º Fv¯® 6,000 C¢v¯ {Ö©[PÎÀ 

ö£ØÓ £[Põu¯® 

 

3,000 

u¸©® 200   

EÓÂÚºPÐUS £›_ 5,600   

C¸ \UQµÁsi ö\»ÄPÒ 1,000   

£zv›UøPPÐUS \¢uõ 

ö\¾zv¯x (öuõÈÀ) 

 

500 

  

£°Ø]¯õÍºPÐUS EuÂ 

öuõøP 

 

1,400 

  

E£› Á¸©õÚ® 17,100   

 49,000  49,000 

 SÔ¨¦ : A¢u BsiØPõÚ ÷u´©õÚ® ¹. 500 
©mk÷© BS®. 
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9. Mr. Bheeman, furnishes the following particulars 

of his income for the previous year 2008–09. 

Compute his total income. 

 Rs. 

Dividend on equity shares (gross) 6,000 

Dividend on pref. shares (net) 3,580 

Interest on bank deposits 2,500 

Directors fees 1,200 

Ground rent 600 

Income from story-writing 10,000 

Winnings from lotteries (gross) 10,000 

Income from letting on Hire-Building and 

machinery 

 

17,000 

 Additional information : 

 (a) Depreciation on machinery let on hire 4,000 

 (b) Insurance on building let on hire 100 

 (c) Collection charges on dividend 20 

 v¸. ¥©ß uÚx Á¸©õÚz uPÁÀPøÍz u¸QßÓõº 
2008&09 BsiØPõÚ AÁµx ö©õzu Á¸©õÚzøu 
PnUQhÄ®. 

 ¹. 

÷|ºø© £[SPÒ «x Qøhzu £[Põu¯® (ö©õzu®) 6,000 

•ßÝ›ø© £[SPÒ «x Qøhzu  £[Põu¯® ({Pµ) 3,580 

Á[Q øÁ¨¤ß «x ö£ØÓ Ámi 2,500 
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 ¹. 

C¯US|º Pmhn® 1,200 

Põ¼©øÚ ÁõhøP ö£ØÓx 600 

Pøu GÊv¯vÀ ö£ØÓ öuõøP 10,000 

»õmh›°À öÁßÓ ö©õzu öuõøP 10,000 

Pmih® ©ØÖ® C¯¢vµ® ÁõhøPUS ÂmhvÀ ö£ØÓ 

öuõøP 

 

17,000 

 TkuÀ uPÁÀPÒ : 

 (A) ÁõhøPUS Âh¨£mh C¯¢vµ® «x ÷u´©õÚ® 

4,000 

 (B) Pmihzvß Põ¨¥k öuõøP 100 

 (C) £[Põu¯® Á`À Pmhn® 20. 

10. What is agricultural income? Explain the 

conditions to be satisfied to prove an income as 

agricultural income. 

 ÂÁ\õ¯ Á¸©õÚ® GßÓõÀ GßÚ? J¸ Á¸©õÚ® 

ÂÁ\õ¯ Á¸©õÚ GÚ {¹¤UP EÒÍ {£¢uøÚPøÍ¨ 

£ØÔ ÂÍUSP. 
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11. Mr. Kalai – who is totally blind submits you the 

following information. Compute his taxable 

income for the year ending on 31.03.2009. 

 Rs. 

Annual salary 1,30,000 

Interest on bank deposits 15,000 

Interest on Govt. bonds 4,000 

L.T.C.G 40,000 

S.T.C.G 10,000 

Winnings from race horses (gross) 20,000 

Deposited in P.P.F 40,000 

NSC VIII purchased during the year 20,000 

 v¸. Pø» – £õºøÁ AØÓÁº. u[PÎh® RÌPsh 
uPÁÀPøÍz u¸QßÓõº. 31.03.09À •iÁøh²® 
BsiØPõÚ AÁµx Á›US›¯ Á¸©õÚzøu 
PnUQhÄ®. 

 ¹. 

Á¸h Fv¯® 1,30,000 

Á[Q øÁ¨¦PÎß «x ö£ØÓ Ámi 15,000 

Aµ\õ[P Phß £zvµ[PÒ «x ö£ØÓ Ámi 4,000 

}sh Põ» ‰»uÚ Buõ¯® 40,000 

SÖQ¯ Põ» ‰»uÚ Buõ¯® 10,000 

Svøµ £¢u¯zvÀ öÁßÓ ö©õzu £›_ 20,000 

ö£õx ÷\ª¨¦ |» {v°À •u½k 40,000 

÷u]¯ ÷\ª¨¦ £zvµ® VIII |h¨¦ BsiÀ 
Áõ[Q¯x 

 

20,000 
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12. What are the deductions allowed while computing 

the income from house property? 

 Ãmk ÁõhøP Á¸©õÚ® PnUQk® ÷£õx 
AÝ©vUP¨£mh PÈÄPÒ ¯õøÁ? 

––––––––––––– 


